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«“<«POODQDOOOVOOD »»

Ex. Score: 0 of 1 pt e

Solve the following absolute value equation. Use the basic absolute value equations.

|x—8|=5

«“<«POROQPOTOOOD »»

Ex. Score: 0 of 1 pt
! 1.1.67

Solve the following absolute vale equation.

|x=1|=0
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«<«QOOODPOOWVOOD >

Ex. Score: 0 of 1 pt 1179

Solve the following absolute value equation.

7)x|+15=14

«<ODOO0000DD00 »»

Ex. Score: 0 of 1 pt
Solve the following equation.
0.75x—0.05(x—2)=8.50

1.1.83
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“«QOOQOOOODD »»

Ex. Score: 0 of 1 pt

Solve the following equation

1.1.85

m+6r=s’+12

«<«QOPO0DOODOODD »»

Ex. Socorer 0 of L pt
1.1.89
Sclve the followmng equation

-9 1_1( )
; =3t
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Ex. Score: 1 1.1.93

Solve the following equation.

3+3x+6]=15

«WCT DD >

Ex. Score: 0 of 1 pt HW Score: B.7%

A surfboard shaper has to kit the cost of development and production to 5239 per surfboard. He has already spent
549,416 on equipment for the boards. The development and production costs are 3123 per board. The cost per board is

1235+ 49416
X

dellars. Determine the number of boards that must be sold to bt the fmal cost per board to 5239

How many boards must be sold to mit the cost per board to 52397 D
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